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N.B: (1) Question No. 1 is compulsory
(2) Attempt any Three questions from remaining. , .'-.',, 

::;. ' ',';r:i'r::1.i, 
:

l. Answer the fo'owing: - ,'.'fi:l,ii;...'.. i"t'-'.i:,.'t;"-5;i.:,
a) List the technical necessity and state the expecrations orartiffi:i..it::t . i . -, ... ' .f'li..',ii.:lb) Explain the progranming devices that are used to enter the piograin in 4C. ,:i .':;; 

r".'1.';'- ii:'.,.i'.,i:ilr.""',1:l'-
c) Wliat is data trighway? Dlscuss the relaiive ieatupr "i; o"rl .dil;;, -."1:,.i,.,, .r"t .i-ti#;l.lir.'. ;i-.d)Withneatblockschematic,explainthefunctions1fRrU'."..".

-.' -;tl

' 2. a) A railway station has 3 platforms A, B and c a,. il,"o.ing inio tn.i .t"tiai,;,!:;t:;;;'t,':r;'';iltt]i'
It has to be given entry to platform A if A is gmptyJf,bcjtti,a.ana B.aie,occupied , 

j 
, ..,. ' ,, '

then it has to be given to platform C. If all thb piatforms are full" then the traiir has to wait.
Designthenecessaryladderlogicdirgram. " ,''' ' , ,, ,, . ,' " l'05.1

b) Explain the various selection criteria that must be considered ioi selection of a suitable 
I

c) Explain sinking and soulcing input modrile:jlo{plc.,with'neat-diagram: c it oj

.,.t'l .tt',,1.t.^-.-. 
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_,.:,-.r,;;r._j,_r,q.,.-rr., 1.-..,,,y,:t:ir.:.'.;,".:.:r.t. "i: ..., r .,-1., 1.3. a) what is rhe need o{DC^? intgryti$.1viJh,,llc..ung ,c"*iute 1,1:'.-1,,,'r,,,'.i
Explain the methods of integratior. ,l' \ . i : , ".' 

' \
b) with neat block diagram, eiplain Hybrid conrrol systbm architecturd. . ." 

,

[1 0]

[10]

Explain the faptors affecling the sgan inter-,,al with_,€i4mpleS. . '. . .: | .: .:: ,.:'
5. a) What is ERP? Explain the typical moduied of FRp.

b) Explain thetenirg:L-'i1 Atafi;s'ppr6ssion; ii) Aiatu'Rationalizition.
c) Explain iEC 6l 

f.OS 
life cVcle model

6. Writenoteon:1-.(An f*o).,,'il -

a) Advanced'Plc instiuctions ' " ., ,'' :.
' ,a..: -, 

l_ i\:.."

b) Aierarchical levels in any automated plant. 
l

''''q)l.iME$. ii lqy-ers,of comirrunications:betwben business anci control sygtem.
,:''j:.::-.'...'.'.'.:.-:1:]..':'l:.,....':'l|.

,1,t:,r-:...'.,'..',t : .:'-':,1,,.,-'r'':l_,.,, :,',.1
4. a) Explain with neat aiagf1.t",g;rytep th{ !i!o1vs an.\t!!!fto flore data'in central data store. tl 0l

b) What is Scan interval of SCADA?
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